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3.%

a.%

Z%=(170F178.1)/40.7%=F0.199,%%pFvalue=%0.50%F0.4207%=%0.0793%

Z%=(200F178.1)/40.7%=%0.538,%pFvalue%=0.5%F%0.2946%=%0.2054%

Probability%=%0.2847%

b.%

Z=(260F178.1)/40.7%=%2.012,%pFvalue%=%0.022%

c.%

Z=(170F178.1)/(40.7/3)%%=%F0.597,%pFvalue=%0.50F0.2743%=%0.2257%

Z=(200F178.1)/(40.7/3)%=%1.614,%pFvalue=%0.50F0.0537%=%0.4463%

Probability%=%0.672%

d.%

pFvalue%=%0.03%=%Z%=%2.75%

x%=%40.7(1.88)%+%178.1%

x%=%254.61%

%

4.%

a.%

Ho:%The%population%mean%of%liquid%amount%per%bottle%is%greater%than%or%equal%to%12%oz%
Ha:%The%population%mean%of%liquid%amount%per%bottle%is%less%than%12%oz%
%
Ho:%μ%≥%12%%
Ha:%μ%<%12%%
%



%

b.%

For%a%hypothesis%regarding%a%population%mean%or%standard,%when%the%population%is%known%to%be%normal%
and%variance%σ2%is%not%known,%we%use%the%tFtest.%%

Assumptions:%

Data%are%continuous.%
Data%are%t%distributed%or%are%suspected%normal%with%(nF1)%degrees%of%freedom%and%an%unknown%
population%variance.%
Sample%observations%are%an%independent%random%sample%drawn%independently%from%each%other.%
Objective%is%to%test%a%hypothesis%regarding%a%single%sample.%
%
c.%

Alternative%is%oneFsided%

α%=%0.01%

tcrit%.01,%14%=%2.624%or%F2.624%

tobs=%(11.56%F%12)/sqrt(0.139/15)%=%%F4.592%

(|tobs|%=%4.592)%>%2.624%or%Pr(|t14|>%4.592)%<%0.0001%

We%reject%Ho;%There%is%strong%evidence%that%the%true%mean%of%liquid%per%bottle%is%less%than%12%oz.%




